//- 0 L 9
t@ ¢ L WA auadtandfitde (Laadidsay )

fa: Wl ezuuu
(—8) V= (=5 = (=5) +(—4) =
1+8= 8 —3=
107" - (-8) = 2’ —6=
(—8)° = (=5) = (—8)° = (-7) =
12+1= 5D 4 (-5) =
8D —10= 70D -5 =
1 +(-9) = 7 +3=
202 4+ (~10) = (-2)P +2=
20D +(=7) = (—10)7? +9 =
(—1)° +(-3) = 3D —3=
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39 7
YD —(—5)= = = 4—
(=8)" "= () = 5 =43
1+8=9
81 1
D _(—))y= — =)
1070 —(=8) = 75 = 8+
(—8)" = (=5) = 69
*+1=2

$ - 10= (-5 = (-99)
1> +(=9) = (-8)
24 (10) = (5) = (-9)

- 13 1
20+ (=7 = () = (-63)

(17 +(3) = (-2)

%

§ 99 24
(-9 + (4 = (-35)= (35
8" —3=6l
2°—6=(-2)

(—8)° —(-7) =171

. 24 4
S (5= (5) = (47)

70 =5= (-2 = (-42)

7 +3=752

9 1
)P 2= =2-
(2) 4 "4

901 1
— (_2) + — —
(=10) ) 100 9mo

-3 = ()= (2)
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